FITTING M

INSTRUCTIONS 'f

Put the car into gear or park and apply the hand brake, loosen the front wheel nuts on one side, raise the vehicle
on a trolley or bottle jack under the axle and then support the vehicle with an axle stand under the chassis. It's
easier and safer to do this job one side at a time.

Remove the front wheel.
Undo the nut on the bottom of the shock absorber remove all bushes and washers.

Gently lower the axle on the jack, the axle will lower the spring away from the chassis and the spring will become
loose. Once this happens stop lowering the axle. Take care not to stretch the brake lines.

Compress the shock absorber upwards to allow the spring to be removed. Undo the 4 nuts securing the turret
and then pull the shock absorber and turret up out of the way.

Remove the spring seat retaining bolts in the axle mount.

Fit the new Terrafirma turret securing ring up over the new Terrafirma dislocation cone and then both up into the
chassis mounting.

Bolt the turrets to the chassis with the flat bit of the turret base pointing inwards. The side plates of the turret are
angled, it doesn’t matter which side you wish to mount them on however the position dictates which way the
reservoir pipe exits the turret, so decided where to mount your reservoir before bolting them down. You may
need to cut a section out of the inner wing for these to mount correctly.

Place the spring on the spring seat and mount the lower shock mount with the spring retaining tags pointing front
to back rather than side to side. This mount holds both the shock and spring in place. Using an M16 nyloc with
washer tighten down the mount to the axle.

The turret has five mounting holes at one inch increments this is to allow a wide range of positions depending on
which shocks and lift you have on your vehicle. If you are using an 11” Travel shock with a 2” lift then use the top
hole, if you are using a 9” travel shock with 2” lift use the middle hole.

Bolt the top of the shock into the turret using the M16x140 bolt with washers and nyloc. You must also put an
aluminium spacer either side of the shock top eye. The sides may need to be manipulated to fit the shock as the
welding process can close the side up.

At the bottom, use the M16x80 bolt, you can usually get this through the gaps between the spring coils, tighten
fully.

You can either mount the reservoir near the turret on the body or the turret sides have two holes down each edge
which the reservoir mounting plate can attach to. It is better to mount the reservoirs pointing up for easy access.

Different vehicles weigh differently and handle differently. Terrafirma Mega Sport shock absorbers come pre
gassed to suit the average Land rover however you may wish to fine tune these.

Refit the wheel, lower the car off of the axle stand and torque the wheel nuts correctly.

Repeat the procedure on the other side.

NOTE: Defender 90/110 (some modification of the inner wings is required)!




FITTING M

INSTRUCTIONS ‘f

Put the car into gear or park and apply the hand brake, loosen the rear wheel nuts on one side, raise the
vehicle on a trolley or bottle jack under the axle and then support the vehicle with an axle stand under the
chassis. It's easier and safer to do this job one side at a time.

Remove the rear wheel.

Remove the old shock absorber and mount. If the axle still has the cups on for the shock absorber bottom
bushes to sit in then these need to be removed (try drilling the spot welds and using a sharp chisel).

The rear turrets are handed and identified by the large ‘L’ shape gusset should be at the rear of the mount.
Bolt the turrets to the chassis using the M10x120 hex bolts. Make sure you put the spreader on the inside of
the chassis rail.

The turret has five mounting holes at one inch increments this is to allow a wide range of positions
depending on which shocks and lift you have on your vehicle. If you are using an 11” Travel shock with a 2”
lift then use the top hole, if you are using a 9” travel shock with 2” lift use the middle hole.

Offer up the top shock mount clamp to the required position and secure loosely using the M10x30 Hex bolts.

Place the top of the shock into the aperture and secure with an M16x80 Hex bolt. Ensure the 6mm spacer is
fitted between the shock top eye and the main mount, otherwise the shock body will foul the mount on full
articulation. Tighten the M16 and M10 bolts fully.

The lower shock mount needs to be bolted to the lower axle shock mount, this must be done with the shock
mounting holes running from left to right NOT front to back.

Position the lower shock mount into the lower mount using a M16x80 Hex bolt .
Fully tighten all bolts.

Using the supplied reservoir mounting plate attach this to a position nearby and secure the reservoir fully.
Make sure you can access the valve in case you need to re-gas them.

Different vehicles weigh differently and handle differently. Terrafirma Mega Sport shock absorbers come pre
gassed to suit the average Land rover however you may wish to fine tune these.

Refit the wheel, lower the car off of the axle stand and torque the wheel nuts correctly.

Repeat the procedure on the other side.

NOTE: Defender 90/110 (Not hi-cap)!

Discovery 1 /Range Rover Classic (extensive body modifications are required)!




FITTING M

INSTRUCTIONS 'I’

Firstly you need to fit the chassis plate which fits as shown below. On the driver’s side, you will need to remove
the four bolts out of the steering box, don’t worry it won't fall off.

Fit the chassis plates with the vertical plate towards the back of the vehicle. Attach this using the two rear bolts
only (M12x100 with washers) align the plate using the original bolts through the front holes and fully tighten the
new rear bolts. Remove the front alignment bolts.

Offer the appropriate bump-stop mount up. If you still have the inner wings you will need to trim the area to allow
the bump-stop and mounts to sit flat on the mounts, hence mark the area first and check twice before cutting.

Using 2x M12x110 bolts and washers loosely position the bump-stop mount. Through the two holes pointing
rearwards fit 2x rear M10x30 bolts with a washer either side of the two plates and M10 Nyloc nut, fully tighten
these.

Now fully tighten the front two steering box bolts.

The bump-stop tube has been zinc plated for protection however we recommend you use some oil, copper slip or
similar to assist removal of the bump-stop in the future.

Fit the bump-stop with appropriate spacers, as a guide a good place to start is 1 spacer for each inch of lift, but
this depends on your suspension system. Once positioned and using the black bolts with attached nuts, fully
tighten this. Remember these bolts only hold the bump-stop in place and they do not need to be excessively
tightened.

Much the same as the driver side but as you don’t have the captive threads of the steering box, we have provided
a spreader plate and appropriate M12 Nyloc nuts and washers.

The strikers locate on the outside of the two radius arm bolts and face inwards. Depending on how your bolts
have been fitted it may be as simple as removing the nuts, fitting the plate then refitting and tightening the nuts.
Or you may need to remove the bolt if it has been fitted from outside in. either way ensure all nuts are tightened
fully after fitting.




FITTING TerrafirMa

INSTRUCTIONS ? Serious 4x4 Accessories

FOR THE REAR:

Remove the spring, spring seat and any spring retaining devices fitted.

Take the round ring with the countersunk holes in it and place on top of the spring mount. There are six holes in
the mount, position the ring with the four holes outwards and align them.

oI

Mark the four holes on the outer edge of the ring. Drill these through with a 9mm drill.

The inner holes can only be accessed from underneath the spring mount, so using the countersunk bolts mount
the ring underneath the spring mount (with countersunk holes downwards). Use all four bolts to locate the ring
and nip them up.

Mark the inner holes and either drill though using the ring as a guide or remove the ring to drill.
Dress the holes and ensure no burrs are present as these will prevent the plate sitting flat.
Place the bump-stop mount on top of the spring mount and locate in-line with the drilled holes.

Refit the retainer ring underneath the mount and fully tighten using the M8x30 countersunk bolts with washers
and nuts provided.

Using light oil, copper ease or similar, coat the inside of the bump-stop tube to make it easier to remove in the
future.

Fit the bump-stop into the tube, using the appropriate steel spacers. As a guide two rings for a 2°lift, but this will
depend on your suspension system and height.

Using two M10x50 hex bolts with washers and nuts tighten the bump-stop in place, these do not need to be
excessively tightened as these don’t see any strain and only hold the bump-stop in place.

Clean all 3 mountings nuts and bolts for the radius arm and treat with a penetrating fluid if necessary.
Undo and remove the rearmost (chassis end) nut and mounting bush.

Remove the split pin, then loosen and remove the nut and washer securing the track rod ball-joint to the swivel
housing. Then remove the ball joint from the tapered hole on the rear of the swivel housing.

Slacken and remove the nuts and bolts retaining the radius arm to the axle, It is recommended that if the bolts
are worn they should be replaced.

oods are p
s structural defect and workmanship but does not cover finishes, la
lesign or consequential damage of any kind. Dama
e not covered by this warranty. Terrafirma shall not be liable for an:

damage due to incorrect or

improper fitment or ap

a conditions or usage for any other
and any indir uential or injury to any person
utor. This v y the replacement of the product or p
ss. Allmakes/Terrafirma and its associated comp: rve the right to alter

ng evaluated for

purpose other than normal private us:

im relating use of the product
ing Allmakes 4x4/Terrafirma
s correct at the time of going to

y or other entity. All claims must be accom

ied by the original retail invoice and should be submitted to the suf

emains solely at the discreti Imakes Ltd. The information contained in this catalogue

consult your Allmakes/Terrafirma distributor for the latest product information and specifications. The Terrafirma range of products is constantly
to make sure the level of quality and performance is as expected

THANKS FOR CHOOSING TERRAFIRMA — SERIOUS 4X4 ACCESSORIES www.terrafirma4x4.com Page |4



FITTING M

INSTRUCTIONS ‘f

Drop the radius arm down and out of the axle brackets and then pull the back end forwards through the
chassis bracket.

Take your new castor corrected radius arm with the new bushes you have fitted in the axle end, fit the first
of the chassis end washers bushes and then push the arm through the chassis mount from the front.

Lift the axle end up into the brackets and re-fit the bolts and nuts loosely.

Re-connect the track rod ball joint to the tapered hole in the swivel housing, tighten up the nut to the
correct torque setting and then fit a new split pin.

Slide the second, rear most mounting bush then the washer and nut on from the back side of the chassis
mounting and tighten the nut to the correct torque setting.

Tighten the two axle end mounting bolts up to the correct torque settings
Clean all mounting nuts and bolts and treat with a penetrating fluid if necessary.

It is usually easier to remove the 3 smaller nuts and bolts that hold the front triangular bush to the chassis
mounting that the arm in-turn bolts through.

Undo and remove the nut and bolt retaining the radius arm to the axle, it is recommended that if the bolt is
worn it should be replaced.

Carefully drop the radius arm down and out of the axle bracket and then remove the arm complete with the
front triangular bush back through the chassis bracket.

Clean the flat of the chassis mounting surface and then bolt the new mounting for the Johnny jointed end
up to the chassis using the 3 nuts and bolts and torque to the correct setting. Make sure you get this the
correct way around.

Ensure the rear axle is centralised in the rear wheel arch and then measure the distance from the centre of
both mounting bracket holes to get the length your new adjustable arm needs to be. Make a note of this to
ensure both sides are the same length.

Slacken the lock nut at the Johnny jointed end of the arm and then wind the Johnny joint in or out to get the
distance between hole centres the same as the measurement you have just taken. Re-tighten the lock nut.

Take your new Johnny jointed rear radius arm, adjusted to the correct length with the new bush you have
fitted into the axle end, and place the Johnny joint into the bracket you have just bolted to the chassis.




FITTING TerrafirMa

INSTRUCTIONS ? Serious 4x4 Accessories

Lift the axle end up to the bracket and re-fit the bolt and nut to the correct torque setting.
Refit the wheel, lower the car off of the axle stand and torque the wheel nuts correctly.

Repeat the procedure on the other side of the car.

WARRANTY & DISCLAIMER - Terrafirma products are warranted free from defects in materials and workmanship for a period of 12 months from the date of retail invoice. Terrafirma does not warrant that the products manufactured or
marketed by it comply with the laws of the country where those goods are purchased or used. It is the sole responsibility of the purchaser to ascertain whether products being purchased, or the fitting of those products to any other
object, comply with local laws. This warranty covers structural defect and workmanship but does not cover finishes, labour charges for removal or refitting, freight costs, accident damage, misuse or abuse, damage due to incorrect or
improper fitment or application, modified product, faulty design or consequential damage of any kind. Damage or defects caused by collision, alteration, improper installation, road hazards, adverse conditions or usage for any other
purpose other than normal private usage are not covered by this warranty. Terrafirma shall not be liable for any other claim relating to the use of the product and any indirect special or consequential damage or injury to any person,
company or other entity. All claims must be accompanied by the original retail invoice and should be submitted to the supplying Allmakes 4x4/Terrafirma distributor. This warranty covers only the replacement of the product or part
concerned. The decision remains solely at the discretion of Allmakes Ltd. The information contained in this catalogue was correct at the time of going to press. Allmakes/Terrafirma and its associated companies reserve the right to alter
the range and any product specifications without notice. Always consult your Allmakes/Terrafirma distributor for the latest product information and specifications. The Terrafirma range of products is constantly being evaluated for
enhancement and improvement to make sure the level of quality and performance is as expected.

THANKS FOR CHOOSING TERRAFIRMA — SERIOUS 4X4 ACCESSORIES www.terrafirmadx4.com Page |6



